1. Two groups of teenagers and

dults went to a basketball game
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What was the cost for a teen's ticket and for &h adult ticket?
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2. Write each equatmn1 in slope-intercept form:
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Missing Endpoint

*Use when given 1 endpoint and the midpoint
to find the other endpoint

"Swoop Swoop Method"
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1. Swoop from -5 to -1 2. Swoop the same distance
from -1 to the unknown x-value

-1 + 4 = 3 (Endpoint has x-value of 3)

4. Swoop the same distance from
2 to the unknown y-value

2 - 7 = -5 (Endpoint has y-value of -5)

3. Swoop from 9 to 2



More Examples (Use the Swoop Swoop Method)
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*Qo from right to left for this exam
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